Mathematical Reasoning

Find the missing number. 11273
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(a) 32 (b)8 (a) 5 (b) 6
(c) 16 (d)4 (c) 7 (d)9
Find the missing number. 8. Find the missing number,
29 (59 49
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(c)3 (d) 4 9. Find the missing number.
Find the missing number.
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1217 (a) 125 (b)215
0]7 13 (c) 251 (d) 512
(a) 4 (b) 7 10. Find the missing number.
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| 6|93[15] [9[2]5] | 4]50] 1 (a) 35 (b) 48
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(@) 5 (b) 19
(c) 27 (d) 89 ABYARYAR
Find the missing number. w W W
5 As 7 /’.\5 6 A:; (a) 3 (b) 13
(c) 18 (d) 30
4 6 S 12. Find the missing number.
(a) 25 (b) 37
(c) 41 (d) 47
Find the missing number.
45| 6
21317
11 3(3
2
7112} 72 13.
(a) 93 (b) 76
(c) 39 (d) 36

Find the missing number.

(a) 30 (b) 31
(c) 39 (d) 45
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Find the missing number.

84 81 88
14|12 18| 9 211
(@) 21 (b) 16
(c) 61 (d) 81
Find the missing number.
5|6
819
10171 ?
400{378| 315
(@9 (b) 5
(c) 7 (d) 3.

How many 7's are there in the following
series which are immediately preceded by 5
and followed by 47?

15734757485743217715791
74

(a) 2 (b) 4

(c)3 (d) 5

How many numbers are there in this series
which are preceded by a number which can
be divided by either 3 or 5 and followed by
the number which is divided only by

1562952 5346285295
32

(@) 6 (b) 4

(c) 5 (d) 1

How many 5's are there which are followed
by 0 and preceded by 0 in the series?

1570507005125150500
50

(@1 (b) 3

(c)4 (d) 5

How many numbers are there which are
preceded by and followed by O in this
series?

54032105010501053632
521

(a) 1 (b) 2

(c)3 (d) O

How many 6's are there in this series which
are followed by 6 but not preceded by 6?

166676586965056646676
69

(@)1 (b) 5
(c) 2 (d) 4
How many even numbers are there in the
following series of numbers, each of which is
immediately preceded by an odd number,

22.

23.

24.

25.

26.

27.

28.

but not immediately followed by an even
number?

53489716532987

35
(@) 0 (b) 1
(c) 2 (d)3

How many odd numbers are there in this
series followed by 1 and preceded by 2?

13200456789102315021351
60

(@) 1 (b) 2

(c)4 (d) 6

In the following number series, how many
8s are there which are immediately
preceded by a number which does not
divide it but followed by a number which
divides it?

28283858853282384715838
286

(@)1 (b) 2

(c)3 (d) 4

How many numbers are there which are
preceded by and followed by 5 in this
series?

5243216532152456

89
(@)1 (b) 2
(c) 4 (d) 5

How many numbers are there in this series
which are neither preceded by 2 nor

succeeded by 3?
423592636821925
30

(@) 6 (b) 8
(c) 10 (d) 12

In the given series of letters, how many t's
are preceded and followed by t?
PtPttPPtPtPPPqqPtPttPP
Pt

(@0 (b) 2

(c)3 (d) 4

How many A's are there in the following
series which are immediately followed by B
as well as immediately preceded by Z?

AMBZAIMAABZABAZBAPZAB
AZAB

(a) Zero (b) One

(c) Two (d) Three

How many L's are there which do not have
R preceding them and also do not have T
following them ?

|ZQSTLRMNQNRTUVXRLTASL |




29.

30.

| TQRSLT

(@1 (b) 2

(c)3 (d) 5

In the following list of letters, how many 0's
are followed by Q's but not preceded by
D's?

DOQODQODODQDOQDS
DQP
OQDSSSDOQOQRDOQDD
DOQ

(@) 0 (b) 1

(c) 2 (d)3

If every alternate letter of English alphabet
from B onwards (including B) is written in
lower case (small letters) and the remaining
letters are capitalized, then how will the first
month of the second half of the year be
written?

(a) JuLy (b) AuGuSt

(c) jUly (d) AugUst



9+4)x2=13x2=26
9+16)x2=25x2=50
16+4)x2=20x2=40

D)
Along the columns,

(
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(15+13)-8=20
(6+3)-2

(5+9) | 13
(D)

(1 ><5) (6><3)=93
(18><1) (4><8)=50
(7x5)+(9x6)=[89]
(®)

(5x3)+4=19
(6x4)+5=29

(7 5)+6=
(C)

Along the columns
(4x2)-1=7
(5x3)-3=12
(6x7)-3=[39]
(A)

11-(1x10)=1
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16.
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19.

20.

21.

9 16 4 9 125

T TT T 7
32 4 23 P g5
(®)
(15%x6)—(5x2)=90-10=80
(9x6)—(5><3)=54—15=39

(13x8)—(16x2) =104 32 =[72]

(D)

Tx2x3=42

Ix1x2=18

5x2x3=[30]

(A)

2?2 > 4,8 64,5 251" >[1]
(B)

+1

AN

So, answer is 31.

(B)
?
12x14 g, 9x18 g 11x[?] g3
2 2 2
.. The number is 16.
(A)

5x8x10=400; 6x9x7 =378, 5><7><=315

.. The number = 9

(A)
1573478321771579174
There are two 7's.

(B)

15(629/525(346|28(52/0F 3|2
There are 4 such numbers.

(B)

157[050 700512515

There are 3 such 5's.

(D)

54032105010501053632521
There are no such numbers in the series.
(D)
166/6765869650(566[466[766/9

There are four such 6's.
(D)




22.

23.

24.

25.

26.

27.

28.

29.

30.

53489735

There are three such numbers.

(A)
1320045678910(|231/502135160
There is only one such number.

(C)
282838[588/53282[384]7158[382|86
There are 3 such numbers.

(A)

524321653215(245/689

There is one such number.

(C)

4 2369266©89)200 253 0

There are 10 such numbers.

(A)
ptpttpptptpppqgptpttpppt
There are no such t's.

(D)

AMBZANAAB|ZAB|AZBBAP|ZAB|A[ZAB|

There are three such A's.
(A)
ZQS[TLRIMNQNRTUVXRLTASLTQRSLT

There is only one such L.
(C)

DOQODODQDOQDSDQ[POQ|DSSSDO

[Q0Q|DOQDDDOQ

There is two such O.

(A)
AbCAEfGhI[j|K[TIMnOpQrst[U
I N

vaz.

first month of the second half of the year is
7th month i.e., JULY which will be written
as JULY.




